
 

 

REASONING QUIZ 
Q1. The series given below contains a sequence of numbers. Identify the incorrect combination. 
1, 8, 3, 6, 5, 4, 6 
(A) 3 
(B) 6 
(C) 4 
(D) 8 
 
Q.2. Kamlesh remembers that his brother Suraj's birthday falls after 29th October, but before 5th 
November, while Sheetal remembers that Suraj's birthday falls before 31st October, but after 
20th October. On which date does Suraj's birthday fall?  
(A) 29th October 
(B) 30th October 
(C) 31st October 
(D) None of the above 
 
Q.3. If PARTICLE is coded RCTVKENG, then how is SCIENCE coded? 
(A) TBJUOMF 
(B) TDJFODF 
(C) UEKGPEG 
(D) QBSUDMF 
 
Q.4. In the English alphabet series, how many consonants are there between the second and the 
last vowel? 
(A) 18 
(B) 16 
(C) 21 
(D) 13 
 
Q.5. The series given below contains a sequence of numbers. Identify the incorrect combination. 
2, 15, 41, 80, 134 
(A) 41 
(B) 134 
(C) 80 
(D) 15 
 
Q.6. Five friends A, B, C, D & E went to college, each one of them reached at different times. If B 
reached after C & D; A and E reached before C & D, then who was the last person to reach?  
(A) A 
(B) D 



 

 

(C) C 
(D) B 
 
Q.7. Six people, Parul, Rajendra, Satish, Tarun, Vishal and Prakash, were all born on the same day 
of the year. But each was born in different six consecutive years. It is also known that_______ 
(a) Parul is older than Satish 
(b) Rajendra is older than both Tarun and Vishal 
(c) Prakash is 2years older than Tarun 
(d) Parul was born either in 1962 or in 1963 
(e) The oldest member of the group was born in 1960 
Read the above information and Answer the following question. 
Que-Which of the following group is correctly listed from the youngest to the oldest? 
(A) Satish, Parul, Rajendra, Tarun, Vishal, Prakash 
(B) Satish, Vishal, Parul, Tarun, Prakash, Rajendra 
(C) Satish, Vishal, Tarun, Prakash, Parul Rajendra 
(D) Satish, Vishal, Tarun, Parul, Prakash, Rajendra 
 
Q.8. A, B, C, D, E and F are cousins. No two cousins are of the same age, but all have birthday on 
the same date. The youngest is 17 years old and E the oldest is 22 years old. F is somewhere 
between B and D in age. A is older than B. C is older than D. 
Which of the following statement is not possible? 
(A) F is 18 years old 
(B) F is 20 years old 
(C) D is 20 years old 
(D) F is 19 years old 
 
Q.9. A person walks 8 km. in the East direction. There from, he moves 5 km. in the North-West 
direction. From that place he walks 6km. in the South direction. His last point will be in the 
direction_____from starting point? 
(A) South – East 
(B) South – West 
(C) West – North 
(D) North - East 
Q.10. The series given below contains a sequence of numbers. Ident ifythe incorrect combination. 
2, 15, 41, 80, 134 
(A) 41 
(B) 134 
(C) 80 
(D) 15 
 



 

 

---ANSWER--- 

1. Correct Answer B 

2. Correct Answer B 

3. Correct Answer C 

4. Correct Answer D 

5. Correct Answer B 

6. Correct Answer D 

7. Correct Answer D 

8. Correct Answer B 

9. Correct Answer A 

10. Correct Answer B  

 


